www.mentortnc.com

Product Line-Up

Miniature Guide / Cross Roller Slide Guide /

Cross Roller Slide Table / Goniometer Crossed Roller Guide/
Cross Roller Rotary Guide/ Actuator / Motorized Stage /

Manual Stage / Dovetail Stage / Micrometer Head / Support Unit



Support Unit
6 7, o
SR § =&

BK/EK/AK/FK
BF /EF / AF | FF
RN / Color




(MENTOR

H-2

4

M E Fixed side Xl Xl & Support side
BK Block Type BF Block Type

-
\ g

EK Block Type

EF Block Type

7 N
N

i

AK Block Type

AF Block Type

FK Block Type

-

FF Block Type

AN

Qe

°
0.9




BK6 Composion List
2EY Part Name 3% Model =2 Qty 5966 DRILL 28
stexl : C.B 811 HOLE DP5  |—222 29
52 Housing EK6 1 ”s 5556 6] | 0.5
HlO{2! Bearing 606 zz 1SET \[ ! M3
—— — \
Z 2 Color C6-5.5 2 L] ﬁ& L s e .
DT watFe
HEXIM Dust proof seal #6 1 s M8x1 A Ol
2AHE Lock Nut RN6 1 e T
ZIHEEZ MELIA 38 23
Set sc-lrew for Il_ockrNtt M3x0.5 1 52
D™HUZ H|o{2! WH7HS High accuracy bearing changable
BF6 Composion List 2-96.6 DAILL
EZY PartName & Model ¥ Qy . C.B @11 HOLE 0512
StSE Housing BF6 1 1
#0122 Bearing 606772 1 © i
AHA Snap ring 6 1 ﬁh .
AR EPL S
P e
i HE m
26+0.02 s
38 14
52
EK6 Composion List | _EK6 |
2EY Part Name 3% Model = Qty g;%g?ﬂgl‘j ORI
St2E Housing FK6 1 27.5
20.5 7
H0{2! Bearing 606 zz 1SET | 18 | WA XTI 35
| |
— 1
& Bt Color o : RN ok
I VM) I ) | (D]
HHXIM Dust proof seal #6 1 L‘r j‘J&ZL‘F TJ QN W6x0 75 | <
2IUHE Lock Nut RN6 1 L 21+03 23 | ‘10
2IHEE MELkAL % |18 ZL—O
Set sc-lrew for Il_ockl.Nut M3x0.5 1 42 2 U)
D™HUZ H|o{2! WH7HS High accuracy bearing changable 2 -
EF6 Composion List 2-$5.5 DRILL I )
HEY Part Name S2 Model #2F Qty C.B HOLE ¢9.5 DP11 O
5t2A Housing EF6 1 18 6 :_
#0122 Bearing 60622 1
A2 Snap ring @6 1 /f_“ ol o IOf C
LAY IR I S >
i i I} —
2140.02 | oy 6|
30 S 12
42 (‘i’)'




FK6 Composion List

2EY PartName SE Model =& Qty
5t2E Housing FK6 1
HO{Z Bearing 606 zz 1SET
C6-4.5 1
EToE .
Z 2} Color C6—7 |
HEEM pust proof seal #6 1
2IE Lock Nut RN6 1
ZIALER MELIA}
Set screw for Lock Nut M3x0.5 1
n¥UZ H{Z DH7HS High accuracy bearing changable

FF6 Composion List

EEY PartName 32! Model 22 Qty
SH2E! Housing FF6 1
H|0{2! Bearing 60627 1
A Snap ring ?6 1

214.5

2.7
3
M3 — —
ol | |
ol F1
N M6x0.75 o)
las Helo
1 a5 T
4.5

275
4-93.4 DRILL 205 7
C.B®6HOLEDPA [5455 o 25
(©®) va | ]
g © \w_oo (83
(OO & g s
e = s
Mex0.75 QIO
N & i
)
8.5
7113
4-93 4 DRILL |_FF6, FF8 |
C.B 6.5 HOLE DP4
6.
@\
7
o o o
0V D
—] SN
o|® N
a I | e
<
% &
64
10

$9.5

|
o | |96

(@)

99.5




Support Unit

08

BK8 Composion List

EEEH Part Name 53 Model =& Qty éfg%%DS&LE o1z
5t% Housing EK8 1 235'5 -
#|0{2! Bearing ENS 1SET o 6.55.5 7 | 7 35
Zt 2} Color €6-5.5 ! .,__,_[ | %

co7s | L B
HEI Dust proof seal #8 1 ‘TT‘ &y LFT‘ ggm Qig 2
E23UE Lock Nut RN8 1 il I M1 / —

260.02 15

St cram Tt Lock N M30.5 1 ab 5

D™US o> WH7HS High accuracy bearing changable
EF8 Composion List 2-96.6 DRILL -ﬁi

HEY Part Name S& Model =& Qty o5 C.B HOLE o11 DP%
8F2E Housing EF8 1 ]
H[0{2! Bearing 60677 1
A2 Snap ring ?6 1 //‘“ o IO
- Qy L ol
1 T e
o Dl ST
2640.02 | o 7
38 P 14
52 H
FK8 Composion List -Iﬁ
= S Xl 2A2F 0 4-93.4 DRILL 33.5
EEY Part Name S3 Model =2 Qty g 2NolE bra PP —
S5t2& Housing EK8 1 6.555 7 7 3.5
HI013 Bearing C8EN585 1S1ET © " 3@3
Z 2t Color e gl jny 2
C8-7.5 1 @@9@ % 2l
YR Dust proof seal #8 1 3 o et s
ZAUE Lock Nut RN8 1 BIN@: =
EAHEL MELIA 110 |
Set sc-!'ew for Il_ock}NLt M3x0.5 1 9 23‘4 U)
n™UZ W WH7S High accuracy bearing changable (-
FF8 Composion List 4-93.4 DRILL m‘ﬂ S
HEY Part Name S& Model =& Qty C.B #6.5 HOLE éDP4 O
512 Housing FF8 1 ] =
H[0{2! Bearing 60677 1 {9
AHZ Snap ring 96 1 © K | o C
DI 8 S« >
Ole ey j—
A a @7 S :
‘:)
NG
64
10
| __RN8 | | _C8-5.5 | C8-7.5
4
2.5
M3 | |
- o o 1. o= . - | o =
_ Sl s SIS
M8x1 —
&(OPT\ON)MBXO.75 ‘ 5 . 5 ‘ 4—»7 5




Jun Hoddns =g

BK10 Composion List

EEE Part Name S% Model 2 Qly 96,6 DAILL e
8122 Housing BK10 1 34 C.B@I1HOLEDPS |8 5 8 8
{2 Bearing 7000ADFC7 1SET & ® N ‘ﬂmﬂﬁ
;Er El' Color C1 0_5 1 L;i . %§ iENE o ]
c10-7 1 J IV I RE T
YR Dust proof seal #10 2 - a @ @ {} zw Mi0x1/ gg |
2FHE Lock Nut RN10 1 — N\ —
E2IHEZ MELIAt w OPTION 4-955 |6 25
Set screw for Lock Nut M4x0.7 1 60
D™UF o2 WHTIS High accuracy bearing changable
BF10 Composion List » 56 DRI
HEH Part Name 5% Model 22 Qty C.B ¢11 HOLE DP5
52 Housing BF10 1 —— .
H|O{& Bearing 60822 1 .‘_J - i
e : f \
A2 Snap ring »8 1 D) KCDJ D703 g| =
o | |
30+0.02 &
46 20
60 OPTION 4-95.5
FK10 Composion List P N -Id
EZY part Name 53 Model 2% qQty CBesHOLEDRS [ 29 5
5t2%& Housing FK10 1 e
H| {2 Bearing 7000ADFC7 1SET @Q}J MA_\ut_I-—l
Z 2 color C10-5 2 ®N o OO0
(D)o f;
YEEIM Dust proof seal #10 2 & ] o LEROIOT ©
2IAUE Lock Nut RN10 1 % <a@
Z
2IAHEEZ MNELIA
Set sc-lrew or Il_ock}NLt M4x0.7 1 56] 12
DHUF Hlo{& WH7IS High accuracy bearing changable w17
FF10 Composion List 4-93.4 DRILL
2EY Part Name S3 Model =& Qty C.B96.5HOLE 7DPA
5t2E Housing FF10 1 ]
012 Bearing 60827 1 {\y .
A2l Snap ring ¢8 1 - ® -
| e i)
—- ols ©
E} 8 s S] %
N I
& )
© { D) ]
715
12
A
4
M4
ol © ‘
% S8 11
M10x1
(OPTION)M10x0.75
7.5




EK10 Composion List

HEH part Name 2! Model 22 Qty
323 Housing EK10 1 N
HIO1Z Bearing 7000ADFC7 1SET @) Mg%l
10- 1 AN
Z 2} color €10-5 % -
C10-7 1 % % o
S x1 )
HHEI Dust proof seal #10 2 (@) EE
EIE Lock Nut RN10 1 ¢
2TIER MELIA M0 7 } 20002
Set screw for Lock Nut XU.
IHUZ HO{> WHTHS High accuracy bearing changable
EF10 Composion List
— 36 2-99 DRILL
HEY Part Name 3 Model =2 Qty 7
522 Housing EF10 1
2l Beari ]
H {2 Bearing 60827 1 ﬁm %[
A2l Spap ring ?8 1 Qy 2
S I
<O
3|5
wn
[aV)
35+0.02
52
70
AK10 Composion List A
HEH part Name 33! Model 2 Qty C.BHOLE @14 DP11
St2E Housing AK10 1 6
#0122 Bearing 7000ADFC7 1SET @} ‘ M4\:d__‘
Z 2t Color C10-5 ! N 3 3
- Cc10-7 1 % T [elgl®
YHEIM Dust proof seal #10 2 3 M10x1 :
E3UE Lock Nut RN10 1 oo :
2IHEZ MELIA 52 6
Set screw for Il_ock}Ntt M4x0.7 1 70
IHUZ HO> WHTHS High accuracy bearing changable
AF10 Composion List 2-$8.5 DRILL
2EY PartName SZ Model & Qty 36 C-B 914 HOLE DRI
52 Housing AF10 1
H|0{& Bearing 60822 1 T T f\ T T o
AHE Snap ring 8 1 1 j GD 1 1 J e 8 1
2 3 I
&
35+0.02
52
70

914

e

yun poddng E

910
914

C10-7




Jun Hoddns =g

BK12 Composion List

EEY Part Name 2! Model =¥ Qly 365
5t2E Housing BK12 1 34 &6 911 HOLE DPe.5 SEae
H|012 Bearing 7001ADFC7 1SET ] MA*H:.:I_
12-5. 1 i : OO0
oo cioss pRLZN1ne
C12-7 1 % y NRE
HEXIM Dust proof seal #12 2 2 é\@ %m M12x1 ] Qﬂ_‘
23E Lock Nut RN12 1 Qe 11N
30%0.09
Z2ILEE MELIAL o5, 6] 13 |6
Set screw for Lock Nut M4x0.7 1 gg \OPTION4 5.5 6 25
DHUZ H|0]2! TH7HS High accuracy bearing changable
BF12 Composion List 2966 DRILL
EEY Part Name 3% Model =& Qty w C.B #11 HOLE DPE‘;
5t2%& Housing BF12 1 ]
012 Bearing 600022 1 . ®
A2 Snap ring 10 1 L( : Q)\ @ 5 °
8] Ay
2 kJ = ) IO
c b P
N 62 39 i i
30+£0.02 |10 |
46 20
60 OPTION 4-5.5
FK12 Composion List N
EEZ Part Name S22 Model 22 Qly G oA, e TR
StE Housing FK12 1 H T
HIZ Bearing 7001ADFC7 1SET @é we | HI
& IO
Z 2 color C12-5.5 2 - §> NP Slg
ols s §
YR pust proof seal S12 2 @ mizxt Y= O]
0,
23E Lock Nut RN12 1 NNE
ZILEEZ MELIA 5|6 12 |
Set screw?or Lock Nut M4x0.7 1 11 17
28
DHUZ H|o]2! TH7HS High accuracy bearing changable
FF12 Composion List
> 4-¢4.5 DRILL
HEH Ppart Name S% Model =2 Qty C.B 8 HOLE DP4
5tE Housing FF12 1 { |
Hl02 Bearing 600027 1 "
AHE Snap ring ¢ 10 1 9 g —g
(oo O
I
AN |
718
15
4.5
3.5
M4
oo
N —
ele
LN mexd
1 l7s




EK12 Composion List

Part Name 3! Model 22 Qty =
Housing EK12 1 % PSR 1B S
M4
Bearing 7001ADFC7 1SET (@) @) g
o coor Cl2-55 1 f()ﬁ -
g A
Cl2-7 1 &j e L
Dust proof seal #12 2 @ __@ N
E Lock Nut RN12 1 35+0.02 2
EZ MELIA 52 |
ew?or Il.ock}Ntt M4x0.7 1 70
= HIO{Z IH|7HS High accuracy bearing changable
EF12 Composion List -Eﬁ
= % 36 2-99 DRILL
Part Name S& Model 22 Qty
Housing EF12 1
Bearing 600022 1 m .
Snap ring ¢ 10 1 —j/ NE s
=
3|5 ‘
Yol i
N |
35+0.02 | 10 |
52
70 20
AK12 Composion List .Ed
- == A . 2-98.5 DRILL
EEY Part Name 32! Model =2 Qty C.B HOLE #14 DP11
5t2& Housing AK12 1 6 !
8 558 8] | 1
H & Bearing 7001ADFC7 1SET
@ M4
2 o oo C12-55 1 —— \ L ~rhU|
= Ci2-7 1 Bl N [ NI
A=y
HHXIU pust proof seal #12 2 kﬁ =i ¢ = —
EIUHE Lock Nut RN12 1 © & Mi2xi 1
E2 MELIA !
ew for Il.ock}NL}Jt M4x0.7 1 3540.02) . 12 | U)
DHUZ H|oJ2! TH|7HS High accuracy bearing changable ‘ cC
AF12 Composion List 2-98.5 DRILL mﬁ —®)
HEH Part Name S 3 Model 2 Qty C.B @14 HOLE DP11 O
5t Housing AF12 1 :_
H {2 Bearing 600077 1 ‘ ‘ ‘
A Snap ring 210 1 i m i i ° C
y alol® ® >
om —
IS —=
H
wn
o
35+0.02 10
| C12-5.5 | C12-7
™
I IS l\ .
sl=
S \J I
X 7




Jun Hoddns =g

BK15 Composion List

HEH Part Name Z& Model 22 Qty =056 DAILL 3340 Z
523 Housing BK15 1 40 C.B @11 HOLEDPGS [B8 7 9 9
} o-Ma |
#lO{2 Bearing 7002ADFC7 1SET A%/\g ~ mj rSiie}
Z 2t Color C15-7 2 - () ay - 2
Y pust proof seal #15 2 - @é €2 %m M15x1 ) _-‘:CI‘I?:_;
23LE Lock Nut RN15 1 ° 11
3540.02
E2IHEE NELIA} - 6] 15 |6
Set screw for Lock Nut M4x0.7 2 % \OPTIO'M 9.5 16 27
DHUZ HOZ ZH7HS High accuracy bearing changable
BF15 Composion List 2-96.6 DRILL
EEY Part Name 33 Model =% Qty 0 .8 @11 HOLE DPGZ
5HE Housing BF15 1 T
HlO{2! Bearing 600222 1 /\ e
A Snap ring ¢ 15 1 LN ) ©
. L/ (NAE
- 7€27 % ™ @:] |
3540.02 10|
54 20
70 OPTION 4-85.5
FK15 Composion List -Iﬁ
E2EY Part Name 33 Model ¥ Qty wossoRIL s
5% Housing FK15 1 8 10 9 9l 4
M0l Bearing 7002ADFC7 | 1SET O =
® 2| J:r
Z 2t color C15-10 2 N s OO
YHEI Dust proof seal #15 2 @@ {} @ g wstL"_:QD:__S 2
Z3HE Lock Nut RN15 1 o & 1
2FL{ES HELIA % E=
Set sc-!ew for Il_ock}Ntl M4x0.7 2 5159 11‘7
DHUF W2 DH7HS High accuracy bearing changable 32
FF15 Composion List 4-65.5 DRILL
EEY Ppart Name 3% Model =& Qty €8 99:5 HOLE OFS 9
S5t2E Housing FF15 1 |
HO{Z! Bearing 600277 1
A2l Snap ring 915 1 = == o
8¢ e
i@
98
17

4.5

2-M4

M15x1

7.5




EK15 Composion List

e

EEY Part Name & Model 2 Qty 3546 -
5t2& Housing EK15 1 41 ~811ORILL [ 10 9 9 ‘i
#l012 Bearing 7002ADFC7 1SET @f@ Z’M‘Rw il
2 2 Color C15-10 ) & . :{
I
8| | ms I ThROTOT T
YHEM Dust proof seal #15 2 9% }
2IHE Lock Nut RN15 1 S i L
Z2IALEZ MELIA} 6 6 25|
Set screw for Lock Nut M4x0.7 2 8
DHLUZ {2 IH7HS High accuracy bearing changable
EF15 Composion List B .
EESH PartName & Model % Qty ZTO9DRLL 2
5t2% Housing EF15 1 /\ e
#1012 Bearing 600222 1 <> o
A2l Snap ring @15 1 \j ofF
40£0.02 ‘ 1‘_0
60 20
80
AK15 Composion List
EEY Part Name 3 Model & Qty o oers "
SHE Housing EK15 1 “ ‘ 5 10359 5 ‘05
g
H {2 Bearin 7002ADFC7 1SET .
2 @//\\@—P } pamilsis i
Z 2t Color C15-10 2 - \C)f - o
LXMW Dust proof seal #15 2 % % é\/é % % %2 e -gg__
2IHE Lock Nut RN15 1 Pl RN |
23UES NELA 03002 o s
Set scre_wcf>or Lock Nut M4x0.7 2 80
DHUG W02 DH7HS High accuracy bearing changable
AF15 Composion List .
BEH PpartName 32 Model 2 Qty C.B #17 HOLE DP15
823 Housing AF15 1 ﬁ ]
MOl Bearing 600227 1 / \1 o
A2l Snap ring @15 1 C) =
\J =N @)
3 T
40+0.02 ‘ &
60 20
80
C15-7
0 ©
— — L 19 _ _ 1 _ 19 s
ASN s By g
10

o

yun poddng E

H- 11



BK17 Composion List

Jun Hoddns =g

BEH part Name 3% Model 22k Qty 50 DAL - 5
N 50 CB@14HOLEOPSS [T0 o 12 12
S5t Housing BK17 1 J ‘
HO{2 Bearing 7203BDFC7 1SET ﬂf‘@/ﬁ@j 27M5ﬁ*mlj_ﬂ©:ﬁ
Z 2} color C17-9 2 &C)/ i} =
@ o8 ¢ mirx YT —
HHEIM Dust proof seal #H7 2 N @ @) S _:QD: 1
EAHE Lock Nut RN17 1 D Sl o
EIALEE NELIA 430.02 - 8l 19 |8
Set screw for Lock Nut M5x0.8 2 gs [\oFrion 4-s6.s - —
DHUF Ho> DH|7HS High accuracy bearing changable
BF17 Composion List . -Eﬂ
BHEH part Name 3% Model 2% Qty 50 C.B@14 HOLEDP8S 12
312 Housing BF17 1
HO{Z Bearing 620322 1 L /\ I
| S N> i
A2l Snap ring o117 1 5 &y N R s
8 5 1@1
5 @ |?
68 R \OPT\ON 4-96.6 2;1—.5‘
86
FK17 Composion List -Izﬁ
4-96.6 DRILL
&Y PartName =% Model =¥ qy C.B 811 HOLE DP10 — 4315: -
S5t Housing FK17 1 e
al i kﬁ%%
H{2 Bearing 7203BDFC7 1SET s
T FOfO] |
4 2} color C17-9 2 Js
YT Dust proof seal #17 2 wine S H OO | )
BIE Lock Nut RN17 1 L
E2IAHEE MELLA L —
Set sc-!e or ||_ock}Ntl M5x0.8 2 10 ] 12 | 14
22 23
DHUF W DH7HS High accuracy bearing changable ®
FF17 Composion List -ﬁ
_ - C.B ¢11 HOLE DP6 12
EEY Part Name 53 Model = Qty L
3194 Housing FF17 i O H
HO{2! Bearing 620322 1 FO
A2 Snap ring @17 1 @ C) @ S ¢
T/ 5
<
& uE
1" 9
20
RN17 C17-9
‘é‘[’i 2-M5
o0 - - I
N e e
L Y mi7x
05| 9
10




Support Unit

BK20 Composion List

E2EY Part Name S3 Model > Qty
SHE Housing BK20 1

H {2 Bearing 7004ADFC7 1SET
Z' 2} Color C20-9 2
YHEIM Dust proof seal #20 2
EFLE Lock Nut RN20 1
EIALEE NEL}A

Set sc1ew for Il_ock}Ntt M5x0.8 2

I:J

HUZ Hl0]2 DH7HS High accuracy bearing changable

52

4-99 DRILL 3

43
CB®I4HOLEDPSS (70 9 12 12

§® NN ZiMs\mllﬂDiﬁ

ST

A
34+0.02
[

442002 OPTION 4-26.6 8] 1 |

BF20 Composion List

2-¢9 DRILL

EEY PartName 5% Model 22 Qty 52 C.B614 HOLE DPB.5 12 _
5tSE Housing BF20 1 e
{2 Bearing 600472 1 i ?m
A Snap ring ®20 1 &y D AE
; IO
Q3 o
70 42002 \DPT\ON 4-96.6 ZSL
88
FK20 Composion List ]
EEH Part Name SE Model 22 Qty C.8 611 HOLE 0P10 ——
SI2& Housing FK20 1 *ﬁj{
#1012l Bearing 7204BDFCT 1SET ﬁFﬂI}
iy |
Z 2t Color C20-11 2 s i’{;';
M Dust proof seal #20F 2 oo S EOTOT
EFHE Lock Nut RN20 1 -
2AEL HELIA Tl o
Set sc1e rll_ocklNLt M5x0.8 2 Ozg 030
52
MU H0{& WRH|7HS High accuracy bearing changable
FF20 Composion List somsoms )
EEZ PartName 52! Model =& Qly
SI2& Housing FF20 1 ‘(J\ 7%
H|0{2! Bearing 620472 1 Te:
A Snap ring ®20 1 [ dh) A\ & gl &
OO 1%
@N
[ le
20
52 2-Ms5
QAJ |~
[s23[eN)
sle
L m20x1
05 |

020

yun poddng E

H-13



020

EK20 Composion List

DHUZ W2 DX 7HS High accuracy bearing changable

E2EY Part Name S Model = Qty 0
SlE Housing EK20 1 5 rovoRl | ”‘4
W01 Bearing 7204BDFCT 1SET .
@ =B fiis<l
2 2t Color C20-11 2 f%
HHXIM pust proof seal #20 2 &% o ) .
o ?‘ M20x1 /] T | —
23LIE Lock Nut RN20 1 @ T8 e Q;Q
EIALEZ NEL}A 47.5£0.02 [ a
Set sc-lre for Il_ock}Ntt M5x0.8 2 2 10 42
DU W DH7HS High accuracy bearing changable
EF20 Composion List 5 poron 1 -E}Zi
EEY Part Name 33 Model = Qty
522 Housing EF20 1 [(::[]
HI0|2 Bearing 620422 1 /N -
A2l Snap ring 20 1 \J o =
83 @1
47.5+0.02 13 ]
75 26
9
AK20 Composion List .Iﬁ
S2EY Part Name 2% Model =& Qty oo sz ops ©
3}-?—%' Housing AK20 1 | 56 10 11 4194 14 m?i
P
H {2 Bearing 7204BDFC7 1SET v N 25 1
@ 9| sl
Z 2t color C20-11 2 %% -
HHXIM pust proof seal #20 2 . &y , %g ﬁt_ﬁ OO
23UE Lock Nut RN20 1 & 8| ||/ [ B
qu—'IE A‘"ELI‘A}' * 47.5+0.02 10 ii 10
Set screw for Lock Nut M5x0.8 2 £

AF20 Composion List

2-¢11 DRILL
C.B 17 HOLE DP15

14

Jun Hoddns =g

BEH PartName %% Model 22 Qty
St& Housing AF20 1
Hl0{2! Bearing 620427 1
A2l Snap ring 20 1
f\\ .
! Sls
=

30 +0.02

920

19}
1@}

T
13

®20
924.5




Support Unit
025

BK25 Composion List 4-911 DRILL THRU -Em

= — T C.B #17.5 HOLE DP11
EEY part Name %2 Model > Qty 62
52 10
5t2& Housing BK25 1 L‘ 210 156 15
#0l2 Bearing 7205BDFC7 1SET J(@/ J . {Qj
T Tl ~ FOJO] |
Z 2 Color C25-10 2 - %% p
U 2 °
HEXIM pust proof seal #25 2 3 \\Xj/ S o 5**fﬁﬁi
2IE Lock Nut RN25 1 o = g A
2AHES HELI N
Set screw for Il_ock}Ntt M6x1 2 oz 5340.02] N oprions-e9 ' 10 fé 10
a

YU H0{Z WH7HS High accuracy bearing changable 106
BF25 Composion List -Eﬁ

2-¢11 DRILL THRU

2ZY Part Name 33 Model 2 Qly C.B 917.5 HOLE DP11
. 64 i
S5I2% Housing BF25 1 J | ]
HO{2! Bearing 620527 1 ] \1 &
A2 Snap ring 925 1 o /4 T 9
e
S ‘
@l
53£0.02 T
o OPTION 4-89 | 1%
106
EK25 Composion List -Eﬁ
BEZH part Name 32 Model & Qty 5670 -
5t2% Housing EK25 1 66 12 14 15 15
HIO12 Bearing 72058DFC7 1SET @) ® 26 {Jlﬂﬁ
Z 2t Color C25-14 2 %%\
21 Dust proof seal #25 2 \&%/ M25x1.5 PR
2IUE Lock Nut RN25 1 i @ @ T
2IAHER NELIA} M6x1 5 T 52.540.09 9]15] 159
Set screw for Lock Nut 1%55 4-311 DRILL 13 418
=]

kI

HUZ H> WH7HS High accuracy bearing changable
EF25 Composion List -Eﬁ

i

1

.
yun poddng E

EEZY Part Name S3 Model & Qty 66 2-¢11 DRILL 15_
5t2& Housing EF25 1
H|O{& Bearing 620522 1 K\ 1@
A3l Snap ring @25 1 f\ g &
AT T
I =
24 1
Ll ) L]
52.5+0.0 15
85 30
105

938
33

7ﬁ M25x1.5
1.5

H-15



FK25 Composion List

6-911 DRILL THRU

EZY Part Name 33 Model =% Qty © CB@ITSHOLEDPI  |ypy5°r5 5T
S5t Housing FK25 1 (‘(\ 7}
H{2 Bearing 7205BDFC7 1SET ( posit qﬁL%
{ FOTOH|
Z 2 Color C25-10 2 m iER s s
O e
HEXIM Dust proof seal #25 2 2515~ T
EFAUE Lock Nut RN25 1 L
2IHES MELIA ‘ gty
Set sciew for Il_ock}Ntt M6x1 2 ;’; 12:%
YU H0{Z WH7HS High accuracy bearing changable 54
FF25 ComPOSion List 6-11 DRILL THRU
_ . C.B ¢17.5 HOLE DP11 15
HEH Ppart Name 3% Model 22 Qty 8 L
5123 Housing FF25 1 '@}\i\ +H
H/O{2! Bearing 620527 1 i
A3l Snap ring @25 1 ﬁm g o B
(D)8 L
i)
Q@* 9 o
115 |15 |
92 0
FK25T Composion List ﬂﬁ
HEY part Name 5% Model 22 Qty 4-99 DRILL THRU 5570 7
C.B 814 HOLE DP13 55 TE 10
S5t Housing FK25T 1 ]
H{2 Bearing 7205BDFC7 1SET o »#ﬁ
i FOFCA |
Z 2t Color C25-14 2 g e
3 s 3
XM Dust proof seal #25 2 - mesx1.5 LT A
23E Lock Nut RN25 1 g
2IER HELIA =
Set screw for Lock Nut Méx1 2 o 55

DFLUS WO BHTHS Hig

h accuracy bearing changable

FF25T Composion List

Jun Hoddns =g

4-99 DRILL THRU

C.B 14 HOLE DP8.5

PCO 80
298

Q

925
963 g6

[SnNlS)

ES
iN

BEH part Name 3% Model 22 Qly
5% Housing FF25T 1
H/O{2! Bearing 620527 1
A3l Snap ring @25 1
0
/‘\ | g 8
\J i
10

$25
$30.5




BK30 Composion List 4914 DRILLTHAU [_BK30

C.B 20 HOLE DP13 56

i1

H Part Name 53 Model £ Qty
x
o

ousing BK30 1

55
‘ 12 11 16 16

: &
HlO{2 Bearing 7206BDFC7 1SET —@® @* } Mﬁgj oo

Z 2 Color C30-11 2 O % ﬁ C -
8 Dustproof sea #30 2 ¢ @&%@/ ég M30x1.5 AT TOT |
an L o : =i
EFHE Lock Nut RN30 i O Mk T
2AHER MELA AEEEE
Set c1re forll_ock}Ntt M6x1 2 o 64+0.02 OPTION 4-811 » 1 42:2 11

IYUS Hof& wH 7S High accuracy bearing changable 128
BF30 Composion List 2-914 DRILL THRU

C.B $20 HOLE DP13

EEH PartName & Model & Qty 76 i
318 Housing BF30 1 P 1\ -
HIO1Z Bearing 620622 1 T T i@
A2 Snap ring #30 1 Iy f\ BN o
A\ A\ o €
’ &y B
S ’Q’ B
64+0.02 Tie
102 OPTION 4-¢11 32
128
FK30T Composion List ro11 DAL T R
F"-Eg Part Name Eg Model _J'\_%F Qlty C.B 917.5 HOLE DP15 7 H5‘56 0 1
5t2& Housing FK30T 1 e
#1012 Bearing 7206BDFC7 1SET e |
W OO, |
Z 2t Color C30-11 2 - Js
XM pust proof seal #30 2 | ot s i °
EIAE Lock Nut RN30 1
2IHES MELIA —
Set screw for Lock Nut M6x1 2 | 21 |

s
DHUZ H0{2! DH7HS High accuracy bearing changable %0 w =
FF30T Composion List -Iiﬁ

4-¢11 DRILL THRU

l
yun poddng E

BEH PartName 32 Model 22 Qty C.B®17.5HOLE DP11  _16_
5t2E! Housing FF30T 1 —
HlO{2! Bearing 620627 1
A2l Snap ring 30 1 @1
©
e
A

H-17



Jun uoddns &=

FK30 Composion List

55

6-911 DRILL THRU
C.B ¢17.5 HOLE DP11

%w
E
ﬁ‘ﬁ

BZH PpartName S2! Model % Qty
St& Housing FK30 1
H0{& Bearing 7206BDFC7 1SET
Z 2} color C30-11 2
HEXIM Dust proof seal #30 1
EIHE Lock Nut RN30 1

FLEE MELA
Set screw for Lock Nut

Méx1

1

PCD 116

$30
#90 g6

=2
THUZ HO{Z TH7HS High accuracy bearing changable

i

19
30

FF30 Composion List

E2EY Part Name S3 Model = Qty
52 Housing FF30 1
H|0{2 Bearing 620672 1
AR Snap ring ¢ 30 1

6-911 DRILL THRU
C.B ¢17.5 HOLE DP11

@

PCD 116
9138

9]

N\ ]

930
990 g6

32

b6
2-M6
0| o
< S
e 8
M30x1.5
1.5
e}
ol
B I A S I WU S glg




Support Unit
035

BK35 ComDOSion List 4-914 DRILL THRU m

C.B ¢20 HOLE DP13

E2EY Part Name 52 Model S Qty I3 -
St& Housing BK35 1 +‘ 15 12 17 17
012 Bearing 7207BDFC7 1SET @ @ %ﬁl
T | OOy

3t g _ L] S m
2 2 Color C35-12 2 5 %N S| -
HHXIM Dust proof seal #35 2 o &% gﬁ’m -

"’ 3l 5x1.5 =] |
EFE Lock Nut RN35 1 D @ @ <% K ‘:C{)‘:C‘): i
23ES HELA S T
Set screw for Lock Nut M6x1 2 s 70+0.02 OPTION 4-611 o 12] gg 12

=]

I™UF HO{> WH|7HS High accuracy bearing changable 140
BF35 Composion List -Eﬁ

2-914 DRILL THRU

EEY Part Name & Model =& Qty o C.8 220 HOLE DPW%

5t2& Housing BF35 1

H0{2 Bearing 620727 1 . (@)
L

)
N

Jah)
N
6

$35

/)

288 Snap ring ¢35 1 /Cs
N

52+0.02

g 70+0.02 OPTION 4-11 | 516
140
FK35 Composion List ) -Iﬁ
-?—%Eg Part Name _s_’-él Model -),\-EOF Q'(y . \} C.B ¢17.5 HOLE DP11 - ‘2617 — 12
5t Housing FK35 1 2 D & B ﬁ
#1012 Bearing 7207BDFCT 1SET & . WJ%
N\
Z 2 Color C35-12 2 @%%@ oo
YEXIM Dust proof seal #35 2 ®& E oo el :
BFE Lock Nut RN35 1 € (O]
ZIALEE MELA} S
Set screw for Lock Nut M6x1 2 L ’}’
.20
al
=2

E
e
IHUZ WO BH7HS High accuracy bearing changable 120 Lial 18 5
FF35 Composion List . G otrooLE Pt -Eﬁ

o
yun poddng E

15 17
EEY PartName 3% Model 2 Qty s
olLE Housing FF35 1 < & @ 7§7
012! Bearing 620777 1 o
AHE Snap ring @35 1 //\\ N .
N\
@)
D LSy @ s
? 19

8 7
! ™ KN
i
Imill
gF s
| T~ mesxi5 KJ
‘145 12

H-19



BK40 Composion List

940

FEE PartName =8 Model 100 é?gfzga‘&g DP17.5 682 16
_ 14 16 18 18
SHE Housing BK40 ]
#1012 Bearing 7208BDFC7 /@ @ w | l
: Bl OO
Z 2t color C40-16 = 7N
) \d =
HEEI pyst proof seal #40 5 k% o3 || L
2THE ook RN40 O\@ @ || Y
Z2IALEZ NELIA} RN
Set screw for Lock Nut M6x1 & 800.02 OPTION 4-914 " i Z? 4
DHUZ H0 DH7HS High accuracy bearing changable —
. . BF40
BF40 Comp08|0n List 2-18 DRILL THRU
= =3 C.8 626 HOLE DP17.5
EEZH PartName 33 Model 100 18
5t2E Housing BF40
HlO{2! Bearing 620827 T 3 i@
A2l Snap ring @ 40 {}

@40
I

FK40 Composion List

E2EY Part Name S& Model

52 Housing FK40

H012] Bearing 7208BDFC7

Z 2t Color C40-16

Y Dust proof seal #40

EIE Lock Nut RN40

2IHEE MELIA

Set screwofor Lock Nut M6x1

DHUZ W02 ZH7HS High accuracy bearing changable

FF40 Composion List

EEY Part Name Z& Model
5t2E! Housing FF40
HlO{2! Bearing 620827
A3 Snap ring @ 40

Jun Hoddns =g

C.8 $20 HOLE DP13

PCD150

80+£0.02
130 OPTION 4-914
160
8-914 DRILL 82
15" C.8 820 HOLE DP13 i
T2 16 18 18
Pz l
A\ o
@% M6
e Za Al I
it
@ waoas A HOTOL |
& |
5 o
38 [ |
18 |18 [T a8
79
8-¢14 DRILL

[T

Q

9176

9120 06

940
948

H-20




= FtCh29| At Rl=E BA=E AT Mol 25t oz glo] HAE

S 3o s

X

.........‘_.
\-<
> /S

S g

2AL: QA HESF =83 23—-1 T +82_32_325_2063/4 F. +82_32_321_0104

#23—1 Nonhyeon—dong, Namdong—gu, Incheon, 405-847, Korea
47| x| =™ =02 70-18 T. +82_31_989_5606 F. +82_31_998-1606

70—-18 Geomuldae—-ri, Daegot—myeon, Gimpo—Shi, Gyeonggi—Do, KOREA 415-851

2016. 04. 7HZ &t






